
 

 
  Model Question Paper  Set- I 

CLASS - IX 
 

  MATHEMATICS  
01.  fu Eu fyf[ kr  e saa vi fje s; la[ ; k d kSu  gS &   

(a) 3   (b) 
1

3
  (c) 3    (d) π  

 

02.  4

3
d k n ’ key o Álk j gS &  

(a) lkar  (b) vu ol ku h vko ÙkhZ   (c) vu ol ku h vu ko ÙkhZ     (d) bu esa ls d k sbZ  u gha 

 

03.  ( ) ( )3 3 3 3+ −  cjkcj gS &  

 
 (a)  3        (b) 6     (c)   9     (d)  12 

 

04.  6

5

1

5

7

7

 d k eku  gk sxk % 

 (a) 7         (b)   
6

5
       (c) 

1

5
      (d) 1 

 

05.  cgq in  5 4 3x x− +  d k ? kkr  gk sxk &Which of these is a linear polynomial? 

(a) 5      (b) 4     (c)3      (d) 1 

 

06.  cgq in  ( ) 2 1p x x= + d k ,d ‘ kwU;d gS &  

(a) 0      (b) 1       (c) 
1

2
      (d) -

1

2
 

 

07.  cgq in  22 x x− +  esa 2
x d k xq . kkad &  

 (a)  -1        (b)  0        (c) 1           (d) 2 

 

08.  3 23 3 1x x x+ + +  d ks ( 1)x + ls Hkkx n su s i j ‘ ks” kQ y  &  

 (a)  -1        (b)  1        (c) 0  (d) bu es a ls d ksbZ  u gha  

 

09.  2 2 2 2 2 2x y z xy yz zx+ + − + −  cjkcj gS &   

 (a) 2( )x y z+ +  (b) 2( )x y z− −   (c) 2( )x y z− +      (d) 2( )x y z+ −  

 

10.  
10 0

5

y
x − − = d ks ax +by+ c = 0 esa O; ä d ju s ij a, b vkS j  c d k eku  gk sxk &  

 (a) a = 1, b =-1, c = -10     (b)  a = 1, b =
1

5
, c = -10   

 



(c) a = 1, b = 
1

5

−
, c = 10     (d)  a = 1, b = 

1

5

−
, c = -10  

11.  n ks pjksa oky s jSf[ kd l ehd j . k 0ax by c+ + =  d k vky s[ k &   

(a) ,d lj y js[ k k  (b) n ks ljy js[ kk  (c)   o` Ùk  (d) fcUn w 

 

12.  x -2 y = 4  d k ,d gy gSA  

 (a) (4,0)  (b)  (0,0)  (c) (4,1)  (d)  (0,4) 

 

13.  ;fn  fcUn q  (3,4)  l ehd j. k 3y = ax + 7 d s v ky s[ k ij  fLF kr  gS r ks a d k e ku  gks xk 

 (a)   
3

5
   (b)  

5

3
   (c) 

7

3
    (d)  

3

7
 

 

14.  x  v{k vkS j y v{ k d s dV ku  fcUn q  d ks dgr s gS a &  

(a)   Hkwt  (b)  d ks fV  (c) ewy f cUn q         (d) bu e sa ls d ksbZ  u gh a   

 

15.  x  v{k i j ,d f cUn q  d s fu n sZ ’ kkad d s #i gksr s gS a &  

(a) (0,0)          (b) (0,y)        (c) (2,2)           (d) (x,0) 

 

16.  n ks fHké js[ kkvk sa es a fd r u s f c Un q  mHk;fu ”B  gks ld r s gS a &  

(a) ,d   (b) n ks   (c) r h u     (d) bu esa l s d ks bZ  u gha  How many lines can pass  

 

17.  n ks fHké U; wu  d ks. k ksa d k vU r j gksr k gS &  

(a) ,d U; wu  d ks. k    (b) ,d vf/ kd d ks. k  (c)  le d ks. k   (d)  bu esa ls d ks bZ  u gha 

  

18.  ;fn  n ks d ks. kk sa d k ; k sx 90 0000  gks r ks os d ks. k dgy kr s gS a &  

(a)  laiw jd d ks. k      (b) led k s. k      (c) iwj d d ks . k      (d) bu esa ls d ks bZ  u gha If an  

 

19.  vkÑfr  es a x d k e ku  &  

(a) 130
0
  (b) 100

0
  (c) 90

0
  (d) 50

0 

 

 

20.  ;fn  AB = QR, BC = PR vkS j AC = PQ gS r ks &  

(a) ABC PQR∆ ≅ ∆                                (b) CBA PRQ∆ ≅ ∆   

(c) BAC RPQ∆ ≅ ∆                                 (d) PQR BCA∆ ≅ ∆  

 

21.  n ks led ks. k ABC∆  vkS j DEF∆  esa d. kZ  AC = d.kZ  DF rFkk vU; Hkq tk  AB = DE   gks rks 

n ksu ksa f=H kq t fd l fu ;e l s lokZ ax le g ksax s &   

(a) ASA fu ;e    (b) SAS fu ;e   (c) SSS fu ;e   (d) RHS fu ;e 

 



22.  f=Hkq t d h f dUgha n k s Hkq t kvks a  d k ; ksx r h ljh Hkq t k ls g ks r k gS &   

 (a) cM +k  (b) NksV k  (c) cjk cj  (d) bu esa ls d ksbZ  u gha 

 

23.  lepr q HkZ q t d s fod. kZ  ijL ij  gksr s gS a &  

 (a) cjk cj     (b) le kar j   (c) yEc   (d) bu esa ls d ksbZ  u gha  
If APB and CQD  

 

24.  fd lh f=Hkq t d h fdU gha n ks Hkq t kvksa d s e/; fcUn wvk sa d ks  fey ku s o ky h js[ k k[ k. M r hljh Hkq t k  d s 
&   
(a) cjk cj        (b) vk/ kk       (c)  n q xq u k    (d)  bu e sa l s d ks bZ  u gha 

 

25.  n ks lekar j js[ kkvk sa d ks ,d  fr ; Z d js[ kk Áfr P Nsn  d j r h gS r ks var % d ks. kksa d s l ef} Hkktd ksa l s 

cu k pr q HkZ q t gksr k gS  

(a) le pr q HkZ q t   (b)  oxZ      (c)  l eyEc pr q HkZ q t      (d) vk;r 

 

26.  ;fn  ,d f=Hkq t vkS j ,d lekar j pr q HkZ t ,d gh v k/ kkj vkS j ,d g h le kar j js[ kkvksa d s chp 

fLF kr  gks ] r ks f =Hkq t d k { ks= Q y lekar j pr q HkZ q t d s {ks = Q y d k D; k gksr k gS &   

(a) cjk cj        (b) vk/ kk       (c)  n q xq u k    (d)  ,d p kSF kkbZ 

 

27.  r hu  va’ kjs[ kh fcUn wvk sa ls gks d j fd r u s o` Ùk [ k haps t k l d r s gS a &   

 (a) ,d vkS j d soy , d    (b)  vu ar      (c)  n ks o` Ùk      (d) r hu  o` Ùk 

 

28.  vkÑfr  es a ABCD , d pØ h; pr q HkZ q t gS] ft le sa AC vkS j 

BD fo d. kZ  gS a] r ks BCD∠  d k eku  &  

 (a) 0100     (b)  010       (c)  080       (d) 060  

 

29.  ,d f=H kq t ABC d h j pu k  laHko u g ha gS] ; fn   

(a) AB AC BC+ ≤  (b) AB AC BC+ >  (c) AB AC BC− <    (d)  bu es a ls d ks bZ  u gha 

 

30.  ,d f=Hkq t d k {ks=Q y K k r  d hft, ft ld h n ks Hkq t k ,¡ 8 c.m vkS j 11 c.m gS  vkS j ft ld k 

ifje ki 32 c.m gS %       

 (a) 22 30 .c m        (b) 24 30 .c m   (c) 28 30 .c m     (d)  216 30 .c m  

 

31.  ghjksu  lw= e sa] f=Hkq t d k {ks =Q y ( )( )( )S S a S b S c= − − − tgk¡ a, b r F kk c gS &     

(a) f=Hkq t d h H kq t k,¡       (b) f=Hkq t d h ifj ek i  

(c) f=Hkq t d h v) Z ifje ki      (d)  f=H kq t d h {k s=Q y 

 



32.  ,d ? ku kd j fMCc s d k ,d  fdu kjk 10c.m yE ckbZ  d k gS] bl fMC cs d k d q y i` ”B h; {ks=Q y 

fd r u k gksx k & 

(a) 2200 .c m                      (b) 2400 .c m    (c) 2600 .c m                 (d)  2800 .c m  

 

33.  csyu  d k d q y i` ”B h; {ks =Q y D; k g ksxk t gk ¡  r csyu  d h f=T; k] h c syu  d h Å ¡p kbZ  gS]  

 (a)  2 rhπ    (b) 2 ( )r r hπ +      (c)  2r hπ   (d) b u esa ls d ksbZ  u gha 

 

34.  r f=T; k ok y s xks y s d k v k; r u  gS &  

 (a)  32

3
rπ    (b) 31

3
rπ      (c)  31

(2 )
6

rπ   (d) 34
(2 )

3
rπ  

 

35.  ml yEc o` Ùkh; ‘ ka d q  d k vk ; r u  Kkr  d hft, ] ft ld h f=T; k 6 c.m vkS j Å ¡pkbZ  7c.m gS %     

(a)  84 .c mπ    (b) 48 .c mπ      (c)  248 .c mπ   (d) 284 .c mπ  

 

36.  xf. kr  d h ijh {kk esa 5 fo |kf F kZ ; ksa } kjk Ák Ir  vad gS 55, 36, 25, 62, 95 d k ifj lj  gS  % 

(a)  70     (b)  273      (c)  120   (d)  bu es a ls d ksbZ  u gha 

 

37.  voxhZ Ñ r  ckja ckjr k caV u  d s fy, e k/; d k lw = gS & \ 

(a)  
fi xi

x
fi

∑
=

∑
   (b) 

fi
x

fi xi

∑
=
∑

       (c)  x fi xi= ∑   (d)   bu esa l s d ks bZ  u gha 

 

38.  ,d V he u s Q wV ckWy d s 10  eS apksa e sa fu Eu fyf [ kr  xksy fd, 2] 3] 4 ] 5] 0] 1] 3 ] 3] 4] 3 bu 

xksy ks a d k c gq yd gS & 

(a)  0     (b)  1       (c)  3    (d)  4 

 

39.  fd lh  vfHk Á; k sx d h  n ks? kV u k E1vkS j E2 gS vkS j b l d s Ák f;d r k P(E1) r F kk P(E2) gS  r ks 
fu Eu  esa lR; d kSu  lk gS & 

 (a) 1( ) 0P E <         (b) 2( ) 1P E >      

 (c)  1 2( ) ( ) 1P E P E+ =     (d)  bu es a ls d ksbZ  u gha 

 

40.     ,d ekS l e d sUn z  d s fjd kMZ  d ks n s[ ku s l s ir k py r k gS fd fi Ny s 250 Ø ekxr  fn u kas esa fd,  

x, ekS le iwokZ u q eku ksa  esa  ls  175 ckj m ld s iwo kZ u q eku  lgh  jgs  gS aA  r ks , d fn ,  gq , fn u  ij  

iwokZ u q eku  d s l gh g ksu s d h Ákf;d r k gS  % 

 (a)  0     (b)  1       (c)  0.3   (d)  0.7 

 

41.     1

3(125)
−

 d k eku  gS %  

 (a) 5        (b) 
1

5
       (c)  -5  (d) bu es ls d k sbZ  u gha  

 



42.     fu Eu fyf[ kr  e sa l s d kSu  cgq i n  gS &   

(a)  3 2x x+      (b)  
2

x
x

+     (c)  24 3 7x x
−

+ −      (d) bu es ls d k sbZ  u gha  

 

43.     cgq in  26 17 2x x− + d k xq . ku [ k. M %When -is divided by  the remainder is 

(a) (3 1)(2 5)x x− −       (b) (3 1)(2 5)x x− +        

(c) (3 1)(2 5)x x+ +      (d) (3 1)(2 5)x x+ −  

 

44.     y  v{k d k le hd j. k gS &  

(a)  0x =  (b)  0y =  (c) x y=   (d) bu esa ls d ksbZ  u gha  

 

45.     1800 ls vf/ k d y sfdu  360 0000  ls de eki oky s d ks. k d k s D; k dgr s gS a &  

 (a) _t q  d ks. k      (b)  Áfr or hZ  d ks. k    (c)  laiw jd d ks. k     (d)  vf/ kd d ks. k 

 

46.     fd lh f=Hkq t d s r hu k sa Hkq t kv ksa d ks c< +k; k t k , r ks] bl Á d kj cu s lH kh c fg”B  d ks. k ksa d k ; ksx &  
 

(a) 180
0
    (b) 360

0
    (c) 720

0
   (d) 1440

0
 

 

47.     ∆ ABC ,d led ks. k f =Hkq t gS ft l esa 090A∠ = vkS j AB = AC gS]  r ks B∠  d k eku  &   

(a) 60
0
    (b) 45

0
    (c) 30

0
  (d) bu esa ls d ksbZ  u gha  

 

48.     pØ h; pr q HkZ q t d s lEeq [ k d ks. kksa d s ÁR; sd ; q X e d k ; ksx Q y &   
 

(a) 090       (b)  0180         (c)  0270         (d) 0360  

 

49.     Å ¡pkbZ  14cm ok y s ,d yE c csyu  d k oØ i` ”B h; {k s =Q y 88cm
2
 gSA  csyu  d s vk/ kkj d k 

f=T; k d k eku  &   

(a)  1cm     (b) 2cm       (c)  3cm    (d) 4cm 

 

50.     n ks fl Dd k sa d ks ,d l kF k 5 00 ckj mNk yu s ij  g esa Ák Ir  gksr k  gS &  n ks fpÙ k 10 5 ckj]   , d 

fpÙk 275 c kj] d ksbZ  Hkh fpÙ k  u gha 120 ckj ] r ks ,d fpÙk  ÁkIr  gk su s d s ? kV u k d h Ák f ;d r k &  

(a)  0.21     (b) 0.55     (c)  0.24  (d)  bu es a ls d ksbZ  u gha 

 

 

 

 

 

 

 

 

 

 



Answer Keys 

Subject - MATH 
Set – I        

Q. ANS Q ANS Q ANS Q ANS Q ANS 

1 D 11 A 21 D 31 A 41 B 

2 B 12 A 22 A 32 C 42 D 

3 B 13 B 23 C 33 B 43 C 

4 A 14 C 24 B 34 C 44 A 

5 A 15 D 25 D 35 D 45 B 

6 D 16 A 26 B 36 A 46 C 

7 A 17 A 27 A 37 A 47 B 

8 C 18 C 28 C 38 C 48 B 

9 B 19 D 29 A 39 C 49 A 

10 D 20 B 30 C 40 D 50 B 

 



SET – I     CLASS - IX 

  SCIENCE 
lkekU; funsZ’k %lkekU; funsZ’k %lkekU; funsZ’k %lkekU; funsZ’k %    (General Instructions) 

(1) lHkh Á’u vfuok;Z gSA 

All questions are compulsory. 

(2) bl Á’u i= esa 50 Á’u gSa vkSj ÁR;sd Á’u ,d vad dk gSA 

This question paper consists of 50 questions and every question carries one mark. 

(3) ÁR;sd Á’u ds pkj fodYi fn, x, gSa ftuesa dsoy ,d mÙkj lcls mi;qä gSA mÙkj i=d esa lcls 

mi;qä xksys dks dkyk djds lcls mi;qä mÙkj dks bafxr dhft,A 

Four options are given for each question out of which only one answer is most suitable. 

Choose the most suitable option and indicate it by blackening the appropriate circle in the 

answer sheet. 

01.  Roj.k dk S.I ek=d gSA (S.I unit of acceleration is.) 

(a) ehVj (m)    (b) ehVj@lsdsUM (m/s)  (c) ehVj@lsdUM2222 (m/s
2
) (d) ehVj2222@lsdsUM (m2

/s) 

 

02.  osx esa ifjoÙkZu dh nj gS & 

(a) pky   (b) osx   (c) Roj.k   (d) foLFkkiu  

 

  Rate of changer of velocity is : 

 (a) Speed    (b) Velocity   (c) Acceleration     (d) Displacement 

 

03.  ,d dkj 2h esa 100 cm dh nwjh r; djrh gSA bldh vkSlr pky gS A 

A car travels a distance of 100 km in 2h. Its average speed is : 

(a) 100 km/hr  (b) 50 km /hr   (c) 200 km/hr (d) 102 km/hr 

 

04.  2kg nzO;eku okyh oLrq dks 5m/s
2
 dh nj ls Rofjr djus esa fdruk cy dh vko’;drk gksxhA  

How much force will require to accelerate a 2kg mass at 5m/s
2
 ? 

(a) 5N    (b) 10N   (c) 2.5N    (d) 20N  

 

05.  pUnzek dh lrg ij fdlh oLrq dk Hkkj] i`Foh dh lrg ij mlds Hkkj dk fdruk xq.kk gksrk gSA 
Weight of an object on the moon is how many times that of ots weight on the 

earth. 

(a) 6     (b) 
1

2
      (c)  2      (d) 

1

6
 

 

06.  /kuq”k dh rkfur Mksjh esa dkSu lh mtkZ lafpr gksrh gSA 

(a) fLFkfrt mtkZ   (b) xfrt mtkZ   (c) m”eh; mtkZ  (d) jklk;fud mtkZ 

Which energy is stored in the stretched string on the bow. 

 



(a) Potential Energy   (b) Kinetic Energy   (c)  Heat Energy  

(d) Chemical Energy 

07.  fdlh oLrq dk osx nqxquk dj fn;k tk, rks bldh xfrt fdruh gks tk,xh\ 

(a) nqxquh   (b) vk/kkh   (c)   pkSxquh   (d) ,d pkSFkkbZ 

What will be its kinetic energy when its velocity is doubled? 

(a) Double   (b) Half   (c)  Four Times   (d) One Forth 

 

08.  buesa ls rjax osx (ѵ)] rjaxnS/;Z ( λ ) rFkk vko`fr (n) ds chp lgh laca/k dkSu gSA 

Which one is the right relation among wave speed (ѵ), wave length ( λ ) and 

frequency (n) 

(a) v nλ=      (b)  
n

v
λ

=      (c) n vλ=      (d)  .vλ λ=  

 

09.  ÅtkZ dk O;kolkf;d ek=d gS & 

Commercial unit of energy is – 

 

(a) KW  (b) kwh (c) Joule  (d) Watt 

 

10.  lkoZf=d xq#Roh; fLFkjkad G dk S.I ek=d gS & 

S.I unit of universal gravitation constant G is – 

(a) m/s
2
  (b) kg/ms  (c) Nm

2
/kg

2
  (d) Joule 

 

11.  ;fn fdlh fi.M dk foLFkkiu ‘kwU; gS rks cy }kjk ml fi.M ij fd;k x;k dk;Z gksxk &  

If the displacement of the object is zero then work done on an object by a force would be 

: 

(a) O J  (b) I J   (c) 2 J   (d) 9.8 J  

 

12.  fuEu esa fdldk tM+Ro vf/kd gS % 

(a) lkbZfdy  (b) dkj   (c) cl  (d) jsyxkM+h 

Which of the following has more inertia: 

(a) Bicycle   (b) Car   (c) Bus  (d) Train 

 

13.  nzO;eku vkSj osx ds xq.kuQy dks dgrs gSa 

(a) laosx   (b) vkosx  (c) cy  (d) nkc 

The product of mass and velocity in called 

(a) Momentum   (b) Impulse   (c) Force   (d) Pressure  

 



14.  /ofu rjaxs gksrh gS & 

(a) vuqÁLFk rjax  (b) vuqnS/;Z rjax  

(c) a vkSj b nksuks  (d) buesa ls dksbZ ugha 

Sound waves are : 

(a) Transverse wave  (b) Longitudinal wave 

(c) Both a and b  (d) None of these 

 

15.  lkekU; euq”; ds dkuksa ds fy, JO;rk ijkl D;k gS \ 

What is the audible range of the average human ear ? 

(a) 20Hz ls 20000Hz   (b) 20Hz ls 2000Hz 

(c) 200Hz ls 20000Hz  (d) 200Hz ls 2000Hz 

 

16.  LVhy dk tgkt ikuh ij ugha Mwcrk gS ysfdu LVhy dh dk¡Vh ikuh esa Mwc tkrk gS bldk dkj.k 
gS % 
(a) xq#Rokd”kZ.k    (b) mRikyou  (c) ?k”kZ.k   (d) buesa ls dksbZ ugha 
 

A ship made of steel does not sink but a nail made of steel sinks. Its reason is : 

(a) Gravitation     (b) Buoyancy      (c)  Friction      (d) None of these 

 

 

17.  laosx ifjorZu dh nj lekuqikrh gksrh gS % 

(a) tM+Ro ds   (b) vkjksfir cy ds    (c) Roj.k ds   (d) buesa ls dksbZ ugha 

Rate of change of momentum is proportional to : 

(a) Inertia   (b) Applied force   (c) Acceleration  (d) None of these 

  

18.  rRo dk ,d mnkgj.k gS  % 

(a)  ok;q   (b) ikuh   (c) ued   (d) vkWDlhtu 

The example of an element is : 

(a) Air   (b) Water  (c) Salt   (d)  Oxygen 

 

19.  1 eksy cjkcj gksrk gS % 

 (a) 6.022 ×  10
23

 d.k  (b) 6.022 ×  10
22

 d.k  

(c) 6.022 ×  10
21

 d.k  (d) 6.022 ×  10
20 d.k   

1 mole equal to :  

(a) 6.022 ×  10
23

 particles  (b) 6.022 ×  10
22

 particles 

(c) 6.022 ×  10
21

 particles   (d) 6.022 ×  10
20 particles 

 



20.  vkWDlhtu dk lgh bysDVªkWfud foU;kl fuEu esa ls dkSu gS\ 

Which one of the following is a correct electronic configuration of oxygen? 

(a) 2,  8     (b) 2,  6   (c)  2,  8,  6   (d)  6,  2 

 

21.  

Árhd 
12

6
C  ls dkcZu dh nzO;eku la[;k crkb, % 

For the symbol 
12

6
C  , state the mass number of carbon : 

(a) 6       (b)  12       (c)  18        (d) 10 

 

22.  ;fn fdlh rRo dk ijek.kq Øekad A rFkk ijek.kq nzO;eku Z gS rks mlds ijek.kq esa mifLFkr 

U;wVªkWuksa dh la[;k gksxh % 

If the atomic number of an element is A and its atomic mass Z, then the number of 

neutron in its atom will be : 

(a)  A        (b)  A + Z       (c)  A – Z     (d)  Z – A      

 

23.  fdl voLFk esa v.kqvksa dh ÅtkZ vf/kdre gksrh gS \ 

(a) Bksl   (b) nzo   (c) xSl  (d) buesa ls dksbZ ugha 

In which state the energy if molecules is highest ? 

(a) Solid  (b) Liquid  (c) Gas  (d) None of these 

 

24.  10
0
c rkiØe cjkcj gS & 

10
0
c temperature is equal to : 

(a) 163k  (b) 283k  (c) 10k (d) 186k 

 

25.  fuEufyf[kr esa ls dkSu feJ.k gS \ 

(a) pk¡nh  (b) gkbMªkstu   (c) ty (d) ok;q 

Which of the following is a mixture ? 

(a) Silver  (b) Hydrogen  (c) Water (d) Air 

 

26.  CI vk;u esa la;kstdrk&bysDVªWuksa dh la[;k gS & 

Number of valence electrons in CI ion are : 

(a) 16   (b) 8   (c) 17  (d) 18 

 

27.  jnjQksMZ dk vYQk d.k Ádh.kZu Á;ksx fdldh [kkst ds fy, mÙkjnk;h Fkk\ 

(a) ijek.kq dsUnzd (b) bysDVªWu  (c) ÁksVkWu (d) U;wVªkWu 

Rutherford’s alpha particle scattering experiment was responsible for the discovery of : 

(a) Atomic Nucleus (b) Electrons  (c) Protons (d) Neutrons 

 



28.  0.5 eksy H2 O dk nzO;eku gksxk \ 

The mass of 0.5 mole H2 O is ? 

(a) 18 g  (b) 9 g   (c) 5 g   (d) 1.8 g 

 

29.  fuEufyf[kr esa dkSu diM+k xfeZ;ksa ds le; esa vf/kd vkjkensg gksrk gS\ 

(a) ikWfyLVj   (b) flYd   (c) lwrh    (d) flaFksfVd 

Which of the following clothes are more comfortable during summer? 

(a) Polyester   (b)  Silk   (c)  Cotton    (d) Synthetics 

 

30.  fuEufyf[kr feJ.kksa esa ls foy;u dh igpku djsa % 

(a)  feÍh   (b) leqnzh ty   (c) dks;yk   (d) ok;q 

Identify the solution among the following mixture : 

(a) Soil   (b) Sea-water  (c) Coal   (d)  Air 

 

31.  dsuky fdj.ksa fdldk fdj.k iw¡t gSa\ 

(a) ÁksVkWu    (b) bysDVªkWu  (c) U;wVªkWu   (d)  α & d.k 

Canal rays are a beam of ? 

(a) Protons     (b)  Electrons   (c)  Neutrons   (d)  α - particles 

 

32.  fdlh rRo ds ijek.kq esa 18 U;wVªkWu ,oa 17 ÁksVkWu gSaA rRo dk ijek.kq nzO;eku gksxk % 

 (a) 35     (b) 17    (c)  18   (d)  1 

The atom of an element has 18 neutrons and 17 protons. The atomic mass of the 

elements is : 

(a) 35     (b) 17    (c)  18   (d)  1 

 

33.  lksfM;e dk lgh bysDVªkWu foU;kl fuEu esa dkSu&lk gS\ 

(a) 2, 8  (b)  2, 1, 8  (c)  8, 2, 1   (d) 2, 8, 1 

Which one of the following is a correct electronic configuration of sodium? 

(a) 2, 8  (b)  2, 1, 8  (c)  8, 2, 1   (d) 2, 8, 1 

 

34.  1.8g H2O esa v.kqvksa dh la[;k gS\ 

 (a) 6.022 ×  10
20

   (b) 6.022 ×  10
23

 ×  1 (c) 6.022 ×  10
21

   (d) 6.022 ×  10
22 

The number of molecules in 1.8g  H2O is? 

(a) 6.022 ×  10
20

   (b) 6.022 ×  10
23

 ×  1 (c) 6.022 ×  10
21

   (d) 6.022 ×  10
22 

 

 



35.  vkRegR;k dk FkSyk dgykrk gS & 

(a) yod  (b) ykblkslkse   (c) fjfädk  (d) dsfUnzdk 

The suicidel bag is – 

(a) Chloroplast   (b) Lysosome  (c) Vacuole  (d) Nucleolus   

 

36.  dksf'kdk dk ^ikoj gkml* gS & 

(a) ekbVksdkfUMª;k   (b) xkYth midj.k  (c) yod  (d) jkbckslkse 

‘Power House’ of a cell is – 

(a) Mitochondrion    (b) Golgi apparatus  (c) Plastids  (d) Ribosome  

 

37.  VªSdhM~l ik;s tkrsa gS & 

(a)  tkbye esa  (b) ¶yks,e esa  (c) olh; mrdksa esa  (d) isf’k;ksa esa 

Tracheids are found in – 

(a) Xylem  (b) Phloem    (c) Fatty tissues   (d) Muscles 

 

38.  eysfj;k dk jksxokgd gS & 

(a) eD[kh   (b)  ePNj   (c) fo”kk.kq    (d)  Átho 

The vector of malaria is – 

(a) Housefly    (b) Mosquito   (c) Virus   (d)  Protozoa 

 

39.  vkstksu xSl ik;h tkrh gS & 

(a) {kksHk eaaaaaaaMy esa   (c) vk;u eaaaaMy esa   (c) lerki eaMy esa (d) okg~; eaMy esa 

Ozone gas is found in – 

(a)  Troposphere     (b) Ionosphere  (c) Stratosphere  (d) Exosphere 

 

40.     ikS/kksa }kjk la’ysf’kr inkFkZ dgykrs gS & 

(a) tSo jlk;u  (b) pÍku  (c) Qy   (d) dkcksZgkbMªsV 

Chemicals synthesized by plants are called as – 

(a) Biochemicals  (b) Rock  (c) Fruit   (d) Carbohydrate  

 

41.     ,d lw{e iks”kd rRo gS & 

(a) tLrk  (b)  ukbVªkstu   (c) QkLQksjl  (d) iksVSf’k;e 

A micronutrient is – 

(a) Zink    (b) Nitrogen   (c) Phosphorus   (d)  Potassium 

 

 



42.     ikni vkSj tUrq dksf’kdk esa Áeq[k vUrj gS & 

(a) iks”k.k laca/kh  (b) xfr laca/kh  (c) o`f) laca/kh  (d) ‘olu laca/kh 

Main difference between plant and animal cell is – 

(a) Related to nutrition   (b) Related to motion 

(c) Related to growth    (d) Related to respiration 

 

43.     esa<d gS & 

(a)  mHk;pj  (b) ljhl`i  (c) Ñfe   (d) vkFkzksikWM 

Frog is – 

(a) Amphibian  (b) Reptilia  (c) Worm  (d) Arthropod  

 

44.     ,d fo’oO;kih chekjh gS & 

(a) cq[kkj  (b) gStk   (c) fljnnZ  (d) ,M~l 

A cosmopolitan disease is – 

(a) Fever  (b) Cholera  (c) Headache  (d) AIDS 

 

45.     ,d laØked jksx gS & 

(a) ân; jksx  (b) dSalj  (c) dq”B jksx  (d) gStk  

An infections disease is – 

(a) Cardiac disease (b) Cancer  (c) Leprosy  (d) Cholera 

 

46.     vkstksu gS & 

(a)  nzo     (b) ok”i     (c) Bksl   (d) xSl  

Ozone is - 

(a) Liquid       (b)  Vapour   (c) Solid      (d) Gas 

 

47.     EDB D;k gS \ 

(a) /kwed  (b) moZjd  (c) gkjeksu  (d) Áfr tSfod 

EDB is – 

(a) Fumigant  (b) Fertilizer  (c) Hormone  (d) Antibiotic 

 

48.     fdl Ádkj ds mrdksa dh fØ;k’khyrk ds dkj.k ikS/kksa esa okf”kZd oy; curs gS\ 

(a) laogu mrd  (b) ik’oZ foHkT;ksrd  (c) ‘kh”kZLFk foHkT;ksrd  (d) n`<+mrd 

By the activity of which type of tissues the annual rings of plants are formed? 

(a) conducting tissues  (b) Lateral meristem  (c) Apical meristem  

(d) Sclerenehyma 

 

 



49.     ok;qe.My esa ukbVªkstu dh Áfr’kr~rk gS & 

(a) 21   (b)  78    (c)  0.03    (d)   0.007 

The percentage of Nitrogen in atmosphere is –  

(a) 21   (b)  78    (c)  0.03    (d)   0.007 

 

50.     ikni dksf’kdk ds pkjks rjQ ik;h tkus okyh f>Yyh dks dgrs gSa & 

(a) VksuksIykLV    (b) fMfDV;kslkse  (c) IykTek f>Yyh   (d)  dksf’kdk fHkfÙk 

The membrane covering the plant cell is called as - 

(a) Tonoplast    (b)  Dictyosome     (c)  Plasma member  (d)  Cell wall   

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



Answer Keys 

 (Science) 

Class - IX 

       Set - 1 

Q. ANS Q ANS Q ANS Q ANS Q ANS 

1 c 11 a 21 b 31 a 41 a 

2 c 12 d 22 c 32 a 42 b 

3 b 13 a 23 c 33 d 43 a 

4 b 14 a 24 b 34 d 44 d 

5 d 15 a 25 d 35 b 45 d 

6 a 16 b 26 b 36 a 46 d 

7 c 17 b 27 a 37 a 47 a 

8 a 18 d 28 b 38 b 48 d 

9 d 19 a 29 c 39 c 49 b 

10 c 20 c 30 b 40 a 50 d 

 


